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For they can be done forcibly — 17172 Hya s o

OVERVIEW

The X3 concluded that we cannot derive 702 W17°p from 1IX°2) 0V W17p
through a mwn 7X, for we can refute the MW 7X that they are 7P even 3"v2,
and even though we find a 2"v2 1P by 702 concerning an 77297 71K,
nevertheless by marriage issues we do not find a 3"¥2 702 7°1p. The X132 does
not clearly state what is meant that there is a 2"¥2 702 17 by (7% VW as
well as by) 772y nX. There is a dispute between "w9 and n1vOIN how to
interpret the 3"v2 by 7282 702 1Ip.

— 279930 naNa 902 )PVH9)2 90V HNI’a NN’ 1vwn‘.7: w99
>'"w9 explained the term 2"V2 to mean 78°2 by a %29, vw by w193, and
ne> by an 199257 %K, where the father can sell his daughter against her will.

nooIN asks:
— A9 Y3 1N NN 9991 ANAY 79 AN Hya 2IUN Nt ON BN 124Y A2 )

And the n'"+ has a difficulty with this interpretation, for if this is
considered a case of 2""v2 when the father sells his daughter against her
will -

— N9 5¥3 JNIYN XY XN “MYOIND 905 *nnph XD 29 9NP IND |9 ON
Then why does X177 29 state later that ‘concerning marital issues (at

least), we do not find a case of 2"'¥2 192;’ but this is not so -
— *nn45 S¥a 993 MIVP N YTPN AN NYN

for does not the father have the right to be wp» his minor daughter

2"'wa?! If selling an >"va X is considered 2"v3, then being 3"v2 12 wpn should also be
considered 5"va! How can X137 27 state 2"v2 J7oWR X7 R MWK 70D

Mo0IN answers:

! Perhaps moon is referring to the *"w on the 19w 7"72 '2 Ty, See (also) following footnote # 2.

? Others append the additional words from >"w0 that iny7n X2w 7791 axw. See also w"X17 NV,

3 2,7. X177 27 maintains that one can be w7pn an 7wX through 7917. He derives it through a mw: 7% from 70>
7% quw. The X3 challenges this mwir 7% for 2"va 11w° 19w; to which X177 27 responds that Nw X2 705 we
do not find 2"y2. [X177 27 agrees that there is 3"¥2 703 by 71°72¥7 71K but not by MY K. ]

* The xo™3 of *"wA there q0o 7"72 s 2"va RnPYa JOWR XY Xn MW Ra o3, This means that unlike 78°21 0w
where find a 2"v2 MW X2 1P outside of WI7T°P; by 702 we cannot find a 5"va mMw K2 7°1p outside of 1w Tp.
However concerning 703 *w17°p there is 2"y2 Pw17R as *"wA states there clearly. See 11"k footnote # 89.

> In our X3 it also states WX X2 X mw X2, However this presents no difficulty, for our Xm is
discussing if there would be no 7% for 1w17°p o3, therefore there could not be a case of 2 NR WTpn aR7
2"y2 nod2. However X177 27 is discussing where we already know all 2°1°1p of 7X°21 70w 703.

1

TosfosInEnglish.com



1w 1w "7 0N R, PYITR L1702

— N3 YYa YN DT PN ONP 1N DIPN ANT 113 DN 1229 TN
And the n''1 explains that since the father stands in the place of his
daughter, the w1 7p of his daughter (even if it is) against her will is not

considered 2'"y2a -
— an YWY YT NINY 199

Since it is done with the consent of the father who takes the place of the
daughter —

mooIN anticipates the obvious question:
— N9 D¥a N92¥N NNPNI RNN 03 GO 9INP 351 19 ON 9INN ON)

And if you will say; if this is so that whenever it is done with the consent of
the father it is not considered 3"v3, then how can the X713 state that by no2

there is also a case of 2''v2 by an 799277 7R, this is not so -
- 71)‘\9‘1’3 19299 AN 9N

for the father sells her with his consent and we just said that if it is 287 Ny it is
not considered 2"v2 since the father takes the place of the daughter.

mooIn resolves the contradiction:
— N9 Yya NNNI NN G0 7999 2917 9D U

And one can say is that this is what the X713 asked that there is 2'"'v3 no>

by an 777%R; the 2"va is not referring to the selling of the 7»X but rather -
— N2 YW NNY5 HYAY AR DY INID Hya NNIPN U N3N NN TYIN PINAY D

For instance where the master is *7v>% the 793w 7% with her purchase
money (which he initially gave to the father); he can do this 2"v2 of the

father and >"v2 of the daughter. The case of 7°72v7 AR 3"va o> is where the
77X 1s 7¥>°n the 3"v2a AnR, with the money that he paid for her initially. The 703 P1p allows
him to be 5"va 7v™n.

Mmoo anticipates a difficulty and resolves it:
— 1YY TO98VY NTYO RD TUN (v,02 97 INDPY ININRT NNT

% A 5"va 73p would mean that the person making the 3p does it without the consent of the other party (as it
is by nn2> [where the 027 is i11p the 3"v2 AwX] or by v3 [where the husband is 5"v2 1w wan]). However,
here the husband and the father both agree to the 11p. The na is merely the object being acquired.

" There is an inherent contradiction here (if we assume that 7°72v77 7nR2 2"¥a "1 A3 is referring to his
selling his daughter for an 7»X). Here the X3 maintains that it is 3"y2 (albeit not Mw°X2), and later X177 27
maintains there is no NM¥°X2 5"v1 (even when the father is w7pn his daughter 5"v2) since it is 287 NY7A.

¥ The 117X can be 75 the 7nX and she becomes his wife. The term ¥> means that he designates her (as his
wife). The T3 is based either on the money he paid initially (han°1 Pw7°P2 221WwRAT Myn) or she becomes
nwTPA to him in lieu of her time of servitude still owed. See footnote # 14.

’ The word 779> (which means 71) is interpreted as 7197 knowledge; she is to be informed of the 713
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For that which the X n3 states later based on the 109 of 177 X% "wN that

it is necessary for the master to inform her that he is being 7> her -
— 1Y) PP OUIY AYINND TO98YW NIN NNNIN MUY 7998 RY

It does not mean that the 7¥°> must be done with her consent, but rather
the master is required to inform her that he is being 7v*>» her for the
purpose of 1P2N75P, however the T can be 3"v2.

mooIN anticipates an additional difficulty:
— NINOSYN NI XN MYIND 119PY 9INT 2) DY 9N)

And even though X117 27 stated later that at least by nw2’x we do not find
a case of 2"y2 -
— PIYVIN NN 7YY RN RN )

And in this instance where the master is 7v*2 her 2"¥2 it is PWSN, so how
can X117 27 state that J72WR X9 R mMwoRa?!

mooIn replies:
— mwn 9rawa 905N XA XY NYINNA DIPN Yo

Nevertheless initially the money was not given for NN but for servitude.
Therefore we can say that there is 3"v2 702 by 7nX, for with the money the owner
received for her m7ay he can be 7v>>» her 3"v1; however in regards to M¥°X we do not
find a case where money given for M@ X can be 3"v2a A1p.

moon offers a possible justification of >"w75:
— 1159291 NNINR Y N9 NN HYa »H9P NTINTIT DIVNPN YW1 DAY U

And others justify the oaunps wys (where the sale of an AR is
considered 2"¥2, but not the Pw17°p of a mivp), for it is certain that the sale

of an 92w 7»N is called 2'"'v2; the mnx definitely does not want it -
— DY NHPN NY NYT N2 NHN XY 1Y NN INY

For it is detrimental to her and if she were mature she would not agree
to be sold into servitude -
— 195913 1135 A5 NI 230 INY NIVP SYYTH YaN

However the 1P217>p of a minor girl is not as detrimental to her as being

sold into servitude -
$AN99 Y VYN X9 DIYINN AN NYT N2 AN ZON XYY N1y 19109

For eventually she will be married and if she were mature she would
consent and therefore it is not considered >'"y.

' See “Thinking it over # 1.
' See “Thinking it over # 2.
2 Others amend this to ox.
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SUMMARY

According to *"wn when a father sells his daughter for m72y that is
considered 2"v2; however when he marries her off that is not considered
2"v2 (since [eventually] she would have agreed). According to m»oIn the Ty°
which takes place later is considered the 3"¥2, but it is not considered MW X
since the money was given for M72¥ and not for Mw°K.

THINKING IT OVER

1. mooIn explains that 3"v2a J72WR 82 MWK3, even though he is 7¥>» her 3"y3,
because initially the money was not given mwx aw5." Later in the xm3
there is a NP1 (concerning TY°) whether 11n°1 PYYTRY MNWKRIT NWA or not.
Is nmpoIin explanation valid only according to one view or is it valid
according to both views?"

2 moon writes (according to the 7"d 222w n W), that 71vp “W17°P 1s not a 217;
indicating that it is not 3"va."” However *"w1 on the qod 7"72 'a 7Y states
that na *w17°p through her father is considered 3"ya!'®

3. Our X773 here [universally] maintains that we cannot derive 703 from 0w
7%’ since there is no 3"¥2 703 by MW X (even though there is 3"va 7o2 by
7aR). Later the Xn3 insists that since there is 3"v2 703 [even though it is not
mMw°R1], therefore we cannot derive 197 from 7X°2) quw 703, (It is only 27
X177 who maintains that since WX XY nwoX3, therefore it is not a valid
X270.) Why is it that here the X713 insists that since we do not find N X
2"y2, we can differentiate between nX°21 0w and 702, and later the X723
maintains that even though we cannot find 2"v2 mw°X by 702, nevertheless
we cannot distinguish between 7%*21 70w and 5o3?"”

1 See footnote # 10.

' See P NIX O"9a. Alternately; if we maintain 1001 PRTPY MWK My, then how is it considered 2"va at
all? The father accepted the w17 with the understanding that the 177X has the option of 7¥°. This should
be considered ar 5w nyTn. If, on the other hand we assume that 1n°3 PYITRR IR? MNWRAT My, and the 7Tv°
takes effect in exchange for the work she owes him, then how can we say that the 703 is not mw°r aw>? He
is presently [forcibly] giving her 703 (freeing up her obligation) in exchange for 7"w17°p!

'3 See footnote # 11.

' See (7"x2 11"72) X"Ww.

7 See TRT R"wTn (also; whether this question is on 1'"1 " or also on *"w7d).
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